Week 1 Friday Course 3 Warm-up

Which of the following has the same value as i—; ? 51

.jﬁ
A) Z A)
255 2
B) 2
B) 5—3 ‘/_
< /5
) : % 1/_
D) 4
D) 53 _ .
The line graphed below can be described by an eguation in the form of
¥ = mx + b. For this line, which is true about the values of m and &7
What is the product? A

(2.5 x 10%)(6 x 10%)

Ay 1.5 x 107
B) 1.5 x 108 '
&) Both are equal to 0.
c) 1.5 x 1012 B) Meither is equal to 0.
15 1013 c) Only m is equal to O,
D) 1.2 X

D) Only b is equal to 0.
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Which of the following is equivalent to the expression below
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: Which of the following is equivalent to the expression below?
Which of the following has the same value as % ? m -

/76

N o535 @ :

S B) ﬁ

Week 1 Friday Course 3 Warm-up

2 R
C) 1%
D) 4 o
: :
. 5 The line graphed below can be described by an eguation in the form of 1
¥ = mx + b. For this line, which is true about the values of m and b? :
. ¥
What is the product? !
i
£ *
(2.5 x 10%)(6 x 10%) :
* |
A) 1.5 x 107 i
I
.1.5 x 108 i
&) Both are equal to 0. :
) 1.5 x 1012 B) Neither is equal to 0. :
1
1
1
1

1.5 x 1013 .3ﬂ|‘rf m is equal to 0.
p) 1.5 x

D) Only b is equal to 0.
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TSW P Aline of best fit can be

° AN ar nlot o : /an used to model the linear

association of bivariate

two sets of quantitative data. quantitative data. A

two-way table displays

the relative frequencies of

* |dentify patterns of association

ween tw f ntitativ

categorical data.

» ldentify outliers in a scatter plot.
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10.1 Scatter Plots Day 3

TSW
¢ Construct a scatter plot giventwo sets of guantitative data.

v |dentify patterns of association between two sets of quantitative data.
¢ |dentify outliers in a scatter plot

Vecabulary-
What is an outlier?
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| 10.1 Scatter Plots Day 3

TSW

* Construct a scatter plot given two sets of quantitative data.

* Ildentify patterns of association between two sets of quantitative data.
| » Identify outliersin a scatter plot

| Vocabulary-
What is an outlier? Outliers are data points that are very
different from the rest of the data points in the data sef.




m Identify outliers in a scatter plot.

a)

The scatter plot displays bivariate data on the time, x hours, students spent studying
for a history exam and the corresponding scores, y, earned on the exam.

Study and Scores on History Exam

=&

P

Time Spent Studying (h)

Identify any outlier(s).
|




m Identify outliers in a scatter plot.

I The scatter plot displays bivariate data on the time, x hours, students spent studying
for a history exam and the corresponding scores, y, earned on the exam.

— Study and Scores on History Exam

-

0 . 5 - ) :

a) Identify any outlier(s).

Solution

Outliers appear to be located at (1, 90) and (4, 50).




m Identify outliers in a scatter plot.

The scatter plot displays bivariate data on the time, x hours, students spent studying
for a history exam and the corresponding scores, y, earned on the exam.
Study and Scores on History Exam
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b) Describe the outlier(s) in this context.
I




m Identify outliers in a scatter plot.

The scatter plot displays bivariate data on the time, x hours, students spent studying
for a history exam and the corresponding scores, y, earned on the exam.
Study and Scores on History Exam
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~ b) Describe the outlier(s) in this context.

Solution

The data point (1, 90) represents a score of ?0 earned by a student who studied
only 1 hour for the exam. The data point (4, 50) represents a score of 50 earned by a

~ student who studied 4 hours for the exam.



m Identify outliers in a scatter plot. .

I The scatter plot displays bivariate data on the time, x hours, students spent studying
- for a history exam and the corresponding scores, y, earned on the exam.
— Study and Scores on History Exam
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- ¢) Describe the meaning of the association between the two variables in this context.

Validate the outliers as being very different from the rest of the data points.
I




m Identify outliers in a scatter plot. .

The scatter plot displays bivariate data on the time, x hours, students spent studying
for a history exam and the corresponding scores, y, earned on the exam.

Study and Scores on History Exam
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c) Describe the meaning of the association between the two variables in this context.
Validate the outliers as being very different from the rest of the data points.

Solution

The strong, positive, and linear association indicates that students who studied more
for the history exam earned higher scores. The general trend shows that students
who studied only 1 hour earned a score between 50 and 70. However, one student,
represented by the outlier, scored a 90 with only 1 hour of study. The general trend
shows that students who studied as much as 4 or more hours tended to earn a score
of 90 or above. One outlier represents a student’s score of 50 after 4 hours of study.




Guided Practice
Use graph paper. Solve.

e Dan is investigating the effect of the amount of water, x, given to tomato
seedlings on their growth. He waters each of the 22 plants with a given amount
of water daily. He records their height, y, at the end of two weeks. His data are

shown below.

Water (floz) | 4 24 | 20 | 12 14 4 20 8 20 | 28 12
Height (in.) 2211288 |54 |88 |24 96 |30]|92]| 48| 6.2
Water (floz) | 8 4 12 | 12 | 28 | 24 | 24 8 16 | 16 | 28
Height (in.) | 40 | 16 | 50 | 48 |124| 96 | 104 | 3.2 | 7.8 | 80 | 13.2

a) Construct a scatter plot for these data. Use 1 centimeter on the horizontal axis

to represent 4 fluid ounces. Use 1 centimeter on the vertical axis to represent

1 inch. Identify any outlier(s).

b)

c)

An outlier appears to be located at (? 7
Describe the outlier(s) in this context.

The outlier represents ? _and _?_ after two weeks.

Describe the meaning of the association between the two variables in this
context. Validate the outliers as being very different from the rest of the
data points.

The _? , ?  and association indicates that tomato seedlings that
are given more water daily experience _?__ growth over the two weeks. The

general trend shows that seedlings that are given 28 fluid cunces of water
?

daily generally grew about inches, but the outlier represents a seedling

? _inches with _?_ fluid ounces of water daily.

that grew only




Guided Practice
L use graph paper. Solve.

- o Dan is investigating the effect of the amount of water, x, given to tomato
seedlings on their growth. He waters each of the 22 plants with a given amount

S of water daily. He records their height, v, at the end of two weeks. His data are
shown below.

Water (floz) | 4 24 | 20 | 12 | 16 4 20 8 20 | 28 | 12
Height (in.) 221112 88| 54| 88 | 24| 96 | 30| 92| 48| 62

Water (floz) | 2 4 12|12 | 28 | 24 | 24 8 16 | 16 | 28
Height (in.) 40 | 16 | 50| 48 |124 | 956|104 | 32 | 7.8 | 80 | 13.2

a) Construct a scatter plot for these data, Use 1 centimeter on the horizontal axis
— to represent 4 fluid cunces. Use 1 centimeter on the vertical axis to represent
1 inch. Identify any outlier(s)

An outlier appears to be located at (2, _? ). 28: 4.8
o b) Describe the outlier(s) in this context,

— The outlier represents 7

a height of 4.8 inches

c) Describe the meaning of the association between the two variables in this
context. Validate the outliers as being very different from the rest of the
data paints.

and L after two weeks. 28 fluid ounces of water daily;

The L, 2, and —L_ association indicates that tomato seedlings that strong; positive; linear

are given more water daily experience ? growth over the two weeks. The more

general trend shows that seedlings that are given 28 fluid ounces of water
o daily generally grew about 7

that grew only —_inches with —2_fluid ounces of water daily. 4.8: 28

inches, but the outlier represents a seedling 12 to 13
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Practice 10.1

Draw a scatter plot for each table of bivariate data.

[10]z 2]
[emmmsme o [ 2 (s [+ 2 ]=]
[ Population (xin 1,0008) | 25 [ 15 [ 15 [ 25 [0 [ 35 [ =0 |
| cars ty in 1.0009) [« v 25 slw]s]
o Use 1 centimi he h tal axis to represent 1 hour. Use 1 centimeter
on the vertical axi present a score of 10

[StudyTimexhowrs) | 2 [ 3 [ 5 [ 6 [ 7 [ 4 ] o]
[ Test score (1 | 22 [ 32 [a8 [ 62 [ 76 [ 40 [ o0 |

o O O R
[ Test score () | 8a [ 52 [a0 [a2 [ 72 [ s | 36|
Describe the association shawn in the bivariate data for each scatter plot.

L+ 24 5 I
.

Name: S

*Pick a Problem

*BuzzMath

Lesson Check #8 & 11-can 1dentify and validate the presence

of an outlier
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iIcket Ou € DOO0r- connect, extend, allienge

1. How are the ideas and information presented CONMECTED to what you already knew?

2 What new ideas did you get that EXTENDED or pushed your thinking in new directions?

What is still CHALLENGING or confusing for you to get your mind around? What questions,
3. wonderings or puzzles do you now have?




